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WETEHNEXEREHE 4 4,725 18,900
RHHEEBE (L) = 3,675 3,675
BIFHEERE (t) 1 3,150 3,150
HHEEEE(T) 1 3,675 3,675
BEXER(E) 3 4,725 14,175
MECEER (4) 3 4,725 14,175
BEXEE(T) 3 4,725 14,175
BHRFHE(L) 6 3,750 - 22,500
BIRER () 5| 4300 21,500
BREE(T) 5 3,670 18,350
EILEERM(T) 3 6,100 - 18,300
RAMD—RT VY 245 1,000 245,000
EEREIRE 428 1,000 428,000
NGt ‘ 708 — 825,575
BIEAtE (TELITE) 280 400 112,000
RIEHE (RDELE) 278 400 111,200
falEAtE GEREE) 123 400 49,200
IEHE(EOETE) 72 400 28,800
IRIEAEZ(HELE) 227 400 90,800
BENEEFEDOT—H1TX) 145 400 58,000
RIENE (KRB —FEELE— 110 400 44,000
ZlEAE (Z0RE) 118 400 47,200
—EZ(ERE 390 300 117,000
—EZE (KEEE) 307 300 92,100
=X 2,758 —_ 1,575,875
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